Maclaurin Series
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Find the terms up to and including x* of the Maclaurin series for each of these functions.
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(a) (b)
f(x) = cos(2x) flx)=e>*
fG) | cos2x) | f(0) | 1 fy | e | f0) | 1
f'(x) | =2sin(2x) | f'(0) 0 f'(x) —5e 2% f'(0) | -5
f'(x) | —4cos2x) | f'(0) | —4 f'(x) | 25e°* | f"(0) | 25
f""(x)| 8sin(2x) | f"'(0)| 0 f"(x)| —125e7>* | f(0)| —125
f40) | 16 cos(2x) | f4(0)| 16 frx) | 625¢7>* | f*0) | 625
2
cos2x =1—2x% + §x4+.. e=5% — 1 _ Sy +§x2 _ 125x3 n 62245x4—
(c) (d)
f(x) =sin (—%x) f(x) =In(1 + 4x)
Fx) | In(1+4x) | £(0) 0
fe) | sin(—x) | £ | 0 y
i) | —5cos(—3x) | £10) | — O T |[TO) ?
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@) | —isin(=2x) | f70) | © F'@ |~z | 'O 16
" 1 _1 1" 1 i 128 1"
f7(x) icos(( zlx)) 10| 3 £ () T3 407 £0)| 128
fH@) | zzsin(—5x) | f*(0) | © 1536
- F20 | = T ami | £ 1O | 1536
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s1n(—%x) = _§X+EX3_” )
In(1 + 4x) = 4x — 8x2% + ?x3 — 64x*




